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1 Oo0dnd

1.1 ODOooggooon

O00000000000Scheme (Lisp D00)000000 mini SchemeO OO OOOO
goboboodgbboobbuoogbbuooobboobbooobbooobboon
goboooobbooobbooboboooobbuoooboobbooboboobboon
googoboboogbbooobbuoobobooobbooobbobbuooobboob
gogbbobuoooobbbooooobobooooboboobooo

gbogbogboobuodbogobogboobuogbuoobobobobbobboobo
gobboboogoboood

0000000000 4000)0000U0U0U0UODUDUODODOODODODOOCODOOOOOO
00 Objective Caml OO0 O DOOO0O0O0O0O0OONO Objective Caml DO DO O0OOODO
0000000 Objective Caml DO OO OODOO0OOOODOODOODOODODODOOOO
O00000000000000D00000 (mini Scheme) 0000000000 OOOOO
gobodgboboboobobbooogbboogbbooobbooobboobboob
gobbobuoooboboboooobon

gobbobuooobbboooobbobbooobbboooobbbooon

010 | Objective Caml00000 2030000000
020 |0040000000

030 |0050000000

D40 |D0D06070 (+a)000000

0500 |0000000000

1.2 0000

000 Objective Caml 00 (50000)0000000000OOO0O0OOOOOOOOO
0000000000000 (0000)0000000O0ODODODOOODODUOOOOOO

00000000 (00000000000 0)00000o0o0ooooooooooooo
goboodbbooobbobobboooobboooboobbuooobboooboon
ggbbobuoobobbboooobbobooogboogao

goboboooooooobooobbuoobooobboobobooobbooobboon
0000000o0o0o000oooo0oU00oDoo00ooooooooo(ooooooo
0000000000000 00000O00000D0ooOOoODOODO)DODOOO0OOO0O0O0
gbobogobobbuoobbooobbooboogbbuoobbuooboobboob
gobogbbuobobooobbooobbuooobbooboboobboobobboon
ggbbobuoooobboooobboboood



1.3 UDUdgoooboogdo

OO0 webOOUOO URLDO http://www.sato.kuis.kyoto-u.ac.jp/ igarashi/class/
isle4/ 00000COCOOOO00OOO0OObjective CamlOO0O0O0O0O0O0O0DOOOCCOOO
O0000OObjective Caml D00 OO0O [4] (00 )0O http://www.sato.kuis.kyoto-u.ac.
jp/"igarashi/class/isle4/ocamlman/ DO 0000000 OOOOOO0OO0OO0O0OO
OO0 Ohttp://caml.inria.fr/ OO0 O FAQ OO0 0 O O Objective Caml 00000 OO
O00D0O0O000000QOObjective Caml D0Caml 000000000000 O0O0O0O0O
gooooooooooooooooooobooooopDoboooO0oobooOooOoOoooooboOo
O0000000000000000000000 CamlOODODO O0OO00COOOOOO
00000 Objective Caml 000 OReilly 0000000000000 0O00O000O00O
0000000000000 nttp://caml.inria.fr/oreilly-book/ 000000000
ooono

O00000000000000000(3,030)000000000(000000OObjective
Caml 0000 Scheme 00O Scheme DO0000000000O0O0O) Scheme JO0OO0O
O00000000000O0000(6,2)000000000O

2 Objective Caml [ [J

0000000000000 000000000D00D0O0D0O Objective Caml OO0 O
gobbooboggbbboo

2.1 Objective Caml 00

000000000 MLOOOOODODOO0OO0O00000000000000000'000
gobooboboooboobobooboobobooboobobooboMLDOOD
gboboooobobgooooboooboboboobobobooboboboon
0000000o0ooooo0o0oooooooo0oUoooD (CoooooooDooooo
000)0D000000O0OMLOOOOO0OO0OO0O0 ANOOOOOOOOOOOOOO0OoooQ
00000000000000000000D0O(ODDODDODODOODOOOOOO)O0O000
OO0bD0oO0DbOOo0DO0o0oDbo0oO0oobOoboooDOoODOStandard MLODODOODOOO
p|000000@O0000O0O00O0)0000D0O00U00D0OO0UODooOOoOOoDoOd
gboobgobooboobobbo

OOoooooooboooOo MLOOOOOO Objective Caml OO OO OO OO OObjective
Caml 0 INRIAOOOODOODOODOODOODOODOODOOODOODOODO
OOStandard ML OOODOOODOOOOOOODOOODOODOOODOOODOOOOOOOOO
O0O0Caml 00O Standard MLODOUOOODOOOOOODOOOOOODOOOOOOOO

0000000000000 000000 (object language) 00 0000000 OOOOOOOOO
00000 (Meta Language) OO0 OO0O0O0OO



gobbogbobooguobboobbuooobbooobbuooobbuoobboon
ggbbbuooogbbbuoooobbbuoooobbbuoooon

2.2 ML (Objective Caml) OO0

ML (Objective Caml) 00 0000000000000 O0ODODOOOOO

e 0 00O (higher-order function) 0 0000000000000 000O0O0O0O0OO0O
OooooooOooooOoobooooboooo

0000000004 (pattern matching) 00000 000000000000 DOOOOO

0000000 (static type system) 000000000

0000000 (polymorphic type system) 00 0000000000000 OOOO
0oob0ooooobobo0ooooooobobooooobog

000 (type inference) D000 0000000000000

0000000000000 (module system) 00 0000000000000 0OO0O
00 0000d (separate compilation) 000 00O 0O O O (abstract data type) 0 0 00O
gboogboobogbogboboobboboobbobbobbobbobbo
O00000000000000O(functor)D0D0O0OCODOOOOOOOOOOOOO
O (parameterized module) D0 0000000000000 0O0O0O0DOOOOOOOO
gogoo

00 00 (garbage collection) 00000000000 DO0O0O0ODODOOOOOODOOO
CO0O0 malloc/free 000D DOO0ODODOOOOOOODODOOODODOOOOOO

e JOUUUOO0OODLODLOOUOOUOUOLDLDbLDDLDUOUODLDLDOLDDLDOOOUOODLDbDDOD
gobbbuooobbbuoooobbbuooobbboooon

ggobbobbuooooobbbbtoooooobbbboooobbbboboago
00 O (Objective Caml 0000 0)

3 mini SchemeOOOOOOOO

3.1 UO0Ooooogd

000000 (mterpreter) OO0 0000000000O00OOOODODODODOOOOOO
gboboobobgobooooooboboobobooboboboooboboon
0000000000000 00000000000 (syntex)D0D0000OODOOODOO



000000000000 00000000 (semantics)D0000000000O0O0OO0O0O
gbdodoodouoodouooooootdooooooooouoouonoooooon
gddooooodoooooodobdoooooooooooooooouoooooa
00000000 (0000000000000 00000OO0) 0000000 ooOO0OOd
gddooooodoooooodobdoooouooooooooooouooooon
gdododotootootoouoouoouoooo
gddoddooodougooooooooooououoooooouooooooo
Ooo0dooooooboooooooooooboooooooooobooooooon
O (defining language) 000D 000000000000 O0O00O0OO0OO0O0OO0OOOOOO
0000000 (defined language) 00020 000000

OO00O000 = Objective Caml
0000000 = mini Scheme

O00O0O0O0O000Objective Caml OO0 0000000000 COOOOO (abede)d O mini
Scheme 000D O00OO0OD0OOOOOOO (abede) D0 D OOODOODO
gobbuogobbuoogboooboobbobbuooobbooobboobooon
gobooobboooboboobbuoooboboobbooobbooobboooboon
gobboobbuoobobbooobboobbuooobuoobobooobbooobooab
gobboboggobbbooooobobbooobboboooobboboooobbobooo

3.2 UO0OUobuoboboboboobuoobod

gobbobuoogobbooooobobbooobbo sbugoobobooogoon

syntax.ml 000000000000 000000O0OO0(OOOOOOO)ODO0OO00OOOO
gogobbbobbooogooboboobbbbbouoooobbbbbodago
00000000 (0o/ooo0)ooooo

parser.mly COOO yaccO bison DO OO00O0O0OO00DOOOO0OOO0OO0ODOOOODO
Objective Caml O O ocamlyacc 0D OUOO0DO0OOD .mlyOOOODODOOODOOO
gobOoboboooboobooooboboobooboboboboOoboboogn yace
ooogod

lexer.mll COODO lex, lex OO0 ODOOOO0OO0O0ODOODOODOODODOODODOODOOODb-
jective Caml OO ocamllex D0 D000 0O0OO0O . m1 OOD0OOD0OODOODOODOODO
gboboooboboodbbuooobbooobobobbooobbooobboon

O000booobooD lexdboonogd
000000000000000000000000D00000000000000000 Objective Caml

O Objective Caml 0000000000000 O0O00O0OO0O0O0O0O0O0O0O0OOOOOOOOOOBOOO
000000000000000 (meta circular interpreter) 0 0 00

5



core.ml DUUOUOOOO0OOUOOOOOODOUOOUOO0OOLODLDOOOOOOLODOOOOOnO

main.ml JO0O0O0000O0O0O0OO0O0O00OO0O00O0O00O0O00ObOO0bLbOO00boobOOan
gogbbboooobbbooogb

00000 miniScheme! 0000000000 500000000000000000
O0D0000D0000 Makefile [0 http://www.sato.kuis.kyoto-u.ac.jp/ igarashi/
class/isled4/src/ 0000000000 600000DO0OO0OOODODOODOODOOODOO
O00b000 .mlO0D00O0 EmacsOD 00000 DODOOODOOOC-cC-cOOOOODODOO
O00000000000000 make depend 0000000000000 (DOODOOO
00000000000 make cleanJO00000)000000 OOOC-c C-c make -k
o000 bDobOO0obOobo0ob0ob0obOobobUobob semDbO0DbOOobOOobObOOOOO
O0000M-x shellJODODOOO0O0 0O00)sem 000000 =>000000000
000000 mini SchemeOOOOOOOODODOOODODOOOOO

> scm

= X ;00000000 xOOO0O 100000000
10

= (+x3)

13

gbobboodbboddbc-cC-cmake -k UUOOOOOO0OOO0OODOOOOOOOO
gbobodbogobd M-x next-error U O UOOO0DODOOOO0DOOOODOO0OOOOO
gobood

OU000O0000O0O0OO Objective CamlDOODODOOODODDOOOODO ocamldebug O
000000 (Objective CamlOD 0000 16000) 000000000000 O0O0O ocaml
gbobooobobuoobobobobooobobobuoobobobodbocaml O OO
gaon

ocaml -I{0 00000000000 OODODOQO ) foo.cmo bar.cmo ...

gbbuogobobbudbudbbudiblFeo,Bar DO UUODOOODDOOOODDOOOMO
gogbbobuoooobbboooobobobooogboboooo

3.3 mini Scheme! 000000 — 000000000 O0O0O0O0OOO
goog

0000000000000 00000000OO0OOoOOO0ODOO(DOoOoOoOoOoOOQ
0000O0hoOooOoO mini Scheme! DOOOODO
O0000mini Scheme! O (0 0)00000D000OO0O0OOOO

(00000 == (0)



(* abstract syntax *)
type id = string

type prim = Plus | Minus | Mul

type exp =
ILit of int (*
| Var of id (*
| Prim of prim * exp list (%

type program = Prog of exp

| Addl | Subil

Integer LITeral )
VARiable reference *)
PRIMitive application *)

O 1: mini Scheme! 000000 : syntax.ml

(0) == ((00oo)oo)
| (0O00O0O)
| (000000 (O, ...(0,)
(000000 5= +|—|x]|addl|subl

00000000000O0O0O000oOOO0OO(OODOoO)D0DO0OOOOOOOOoOoOOO
gbobdobooboboboboboooobugbooboboobuoboooobobon
0'(0000000)0000000000000000000000000O00 mini Scheme!

gogbooobogoon

X W

—

+3x)
(addl (+ 3 x1))

gboobgbobobooboobggsuobobboboobn

3.3.1

syntax.ml: JOUOOOUOOOOOOO

goggobbbbbotbodooooooobbbbbil1obbbbbbbbtbidaddon
0000000000000 00000DO00000DO000DO0oDoOoODO00(@MODoOO
00000000000000000000000000000000000) prim0 expd
program U D UOODOO0OO0DOO0OOOO0OOOO0OOOO0OOLOObLDDbOObLbDOOnDn

ggg

3.3.2 parser.mly, lexer.mll: DU UOUOOODOOU

ocamlyacc 0 Oyacc OO OOOLALR(1) D0 DO0OOOOO0OO0OODOOOOOOOOOO
0000000000000 00000O0OLALR(1) 0000000000000 O0O00O0O

7



00000000000 (Coo0o00ooooO0o0OooooOO0)DooooooooOoOQ
U parser.mly UOUOOUOOOOONO
goooboobobobobooobuoob40bb0obboobOoobO
hi
(0o0o)
%}
(on)
Yol
(00Oo0O)
oo
(0Dooog)
(000 ), (0000 )0 Objective Caml 000000000000 Oocamlyace 0000
0 parser.ml 00000000 0O0OOOOOOODOODODOODOO(ODO)DODODODO (OO
00)00000000000000000O0Oparser.mly 0000000000000
O00000o0O0o0oooooooOo(oooo)yoooooooooooooOoooooo
O000bD0o000obDOobOoOgoOgog Objective Caml OO0 (x ... %) DOOOOOO
ooooboobocoobooooog /7« ... x/ 000000
0000 parser.mly 000000 (0 2)0000000000000O0O0OOOOOOOO
coooooooY%.0000o0o00oao

e NOUUDLD open UUUUUOUOUOOUOOL syntax.ml JOUOOOOOOOODO
oooooOoOoOoOoOoOOOOOOODOOOOOOOODOOOOO0OO((ODOOOOO
Syntax.Var 00000000000 O0OO0OODOOO)

e Jtoken (0O OIODO ) ...0 000000000000 COOOOODOOOOOODOO
“" 0% 000000000 LPAREN, RPARENO OO OO ODDO (+, —, %, addl, subl)
000000000 PLUS, MINUS, MUL, ADD1, SUB1 0000000000 10000
00000000000 Pus0000000O0O0OOOO0O)0000DOOOOOO
000000 ocamlyaccD0 0000 parser.ml OO0 0token 00 (DO O O)00OO0
gbogobgobobbobooboobooboobooboobo

e Jtoken <(0 )> (00OUUD) ...000000D0000DOOODOOOOODOOO
0000 INTV(OOOOO0O0000000 int0)0000000 ID(DC0OO0OO
00 Syntax.id 0300 00000000000000000OO00OOOO parser.ml
O000(0)YYOOOOOO teken DO OOOODOOOOOOO

e Ystart (0O0OOO0) ... 0 (00000) 000000000000 Oocamlyace
OD0000Oparser.nl 00000000000000000000000000O
000000 toplevel 0000000000000 00000 main.ml OO
Parser.toplevel 0000000000000 00000000O0OOOOO0O0
0 9%ype 000000000000O0O00000O0

300000 open 0000000000 DDODO0O0OOOOOOOSyntax. 000000000DO0DODODO

8



i

open Syntax

h

Jtoken LPAREN RPAREN
Jtoken PLUS MINUS MUL ADD1 SUB1

%token <int> INTV
Jtoken <Syntax.id> ID

hstart toplevel
Jhtype <Syntax.program> toplevel
Tolh

toplevel :
Exp { Prog $1 }

Exp :
INTV { ILit $1 %}

| ID { Var $1 }

| LPAREN PrimOp Arglist RPAREN { Prim ($2, $3) }

PrimQOp :
PLUS { Plus }
| MINUS { Minus }
| MUL { Mul }
| ADD1 { Add1l }
| SUB1 { Subl }

Arglist :
/* empty */ { [0 %}
| Exp Arglist { $1 :: $2 }

0 2: mini Scheme! 000000 parser.mly




e Jtype <(O)> (00O ) ...000000000000O00OOOtoplevel JOODOO
gobbobuoooobbbduodobibl Syntax.program U U U U OOOO

e 00O0DDOD

(0ooooo) -
(000 q,) ... (0004, {(00000000,) }
{(00000000,) }

| (000 ) ... (000 g4,)

O000000000(00000000 )00 Objective Caml DO 00000 0%: 00
JoodboboboobooobobobooboooobobobuobooboboOoDbo
gboboobobuooboboobobbdbubbibbO Exp U Syntax.exp U
OO0 (000 miniScheme! 0000000 D0)000000D00O0O0OOOOOOOO
gbgobobobobboboobooboobobobobbooboon

gbugbobuodbobobobuodbuoboboboobobbobuodbobbUocam-
llexO lexOOOOOOODOOooOooooooboooboboooboboobobooobo
ggbbbuoodb.ml1 000000

{(ooo) 3}

let (0O)=(0000)

rule (000DDOO0) =
parse (0000 ) {(O0O0O0OO) }
| (oooo){(ooooo)}
..
and (000D00DO0) =
parse ...
and ...

{(oooo)}

0000000000 0bD0D0ObDObO0OO0Db00O0nObjective Caml DOOOOODOODOO
OUO00Oocamllex DO OO0 lexer.m1 DOOOOOOOODOOODO ODOOODOODO 1let
gboodbbodbobbuogbbuobbuoobbuoobbddilexer.mll JOOOO
gobbuooobuoodbbbooobbooobboobobbuooobbuooobooob
U0 occamllex OO ODOOOODOOO0ODOODOODOODOODOODOOOOOOOOOOOOO
00 (Objective Caml 00 )0 000000000000 00O0OO (parser.mly 00000
0)0000 (Parser.token 0 )00 0000000000000 OOOOOOOOOOO
Udbibbud lexbuf UOOOOODOOO0OOOOOOOODOOOOOOOODOOOO

e Lexing.lexeme lexbuf U UUUUUOOOOOOOOOOOOOOO

e Lexing.lexeme_char lexbuf n U DO ODOUOOOOODO n0OD0O0OOOOODODOOO

10



{

let reservedWords = [
(* Keywords )
("+"  Parser.PLUS);
("-"  Parser.MINUS);
("x"  Parser.MUL);
("add1", Parser.ADD1);
("subl", Parser.SUB1);

]

}

rule main = parse
(* ignore spacing and newline characters *)
[ > ’\009’ ’\012’ ’\n’]+ { main lexbuf }

| [202_192]+
{ Parser.INTV (int_of_string (Lexing.lexeme lexbuf)) }

| "(" { Parser.LPAREN }
| ")" { Parser.RPAREN }

| [’a’—’z’] [:a;_;z; ;_7 ;O;_;9; ;*;]*
| [)+; ) :*)]
{ let id = Lexing.lexeme lexbuf in
try
List.assoc id reservedWords
with
_ —> Parser.ID id
}
| eof { exit 0 }

0 3: mini Scheme! 000000 lexer.mll

e Lexing.lexeme_start lexbuf UL DO UUOOOOOOOODOOOOOOOOOOODO
bbb dddibioUdd Lexing.lexeme_end lexbuf UUUOOOOOOOMN

e (IIUIDUDDODOD) lexbuf 00(0OODDODOOOYIOOODOOOO

UbooddbD lexer.mll JOOOOOOO0OO0OO0OOOOO0OOOOODOOO0OO
UbboobuodbbooobodbidbDreservedWords UODOOOODOOOOOOMO

U0OList.assocUUO0OOOOO0OOODOOOO0OOODOOOO0OOODOO0O

0000000000000 00main 000 (0D00)000000OO0OOOOOOOO
OO00O00oDOo00oOo0ooopDbo0o0oooOoooDbO0OoOnboOn mini SchemeD OO
goobbobooooobbbbododubibibl main 1lexbuf O ODOOOOOO0OMO
UbbooobibuddbDint_of_string UL U000 0OOO0O00OO int0OOOOODO
0000 INTV(ODOO int 0)0000000000000C00OO0O0O0O0O00O0OO0O0O0O0
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gogdggoobbbobbbobodddgoooooobboboouoooooboooon
00000000000000000000000000000OODOO0O00o0o0O (0O
O0000000)ID00000000000 eof 000000 OODOOOOOOOOO
ggbbobuodobobbboooubbibidl exitQogoooboboao

gboboobbooobuogobboobobooobbuoobooobbuooobboon
O0000o00ooboboo0obO0bOobOobbOD lexODOODOODOOODbjective Caml O
gobobobooggoon

3.3.3 core.ml: O0O0O

Expressed value 0 Denoted value 000000000000 OOOOODOOOOOO
goboodobobooobuooobobooobooobobboobbooobboobboon
ygooggoooobooboooobooououuuududdidduuuuuuoUuUu
000000000 (expressed value) 00000000000 DO (denoted value) 00 0 0O
OO0 miniScheme! 000000000000 O0O0ODO0OOODOOOOOOOOOOOO
OO0OminiScheme® 00 0000000000000 O0O00O0OOOODOOOOOOO

Expressed Value = 00O (...,—2,-1,0,1,2,3,...)
Denoted Value = OO

ggooobod
godooodoooooogno
(¥ Expressed values *)

type exval =
IntV of int

(* Denoted values *)
and dnval = exval

exval U0 DO O0O0OO00OOO0OO0ODOOOO0OOOO0OOO00bDbOO0o0bo0obbOonoo
ggbbbuoogobbooodobobbbooobbboooobbbuoooobboboao

00 OO000o0OoOoOo00oooooobobobObobObOO00OOndddenoted value 00O
gddodooodoodouobooooouoodoodouoooooouoooooo
000000 (environment) 00 0000000000000 OOOOO(ODOO)0O0OO
0000000 (environment passing interpreter) 0 0 0000000
godododo envOOddooooooooooooooooooo
val empty_env : unit -> env
val extend_env : Syntax.id list -> dnval list -> env -> env

val apply_env : Syntax.id -> env -> dnval
exception UnboundVar of string

{0000000000000000000000 (L-value)d 000 (R-value) D 0000
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type env =
EmptyEnv
| ExtendEnv of id list * dnval array * env

exception UnboundVar of string

let empty_env () = EmptyEnv

let extend_env ids dnvals env
(x assumes List.length syms = List.length dnvals *)
ExtendEnv (ids, Array.of_list dnvals, env)

let rec list_pos n = function
[] -> raise Not_found
| m :: rest => if n = m then 0 else succ (list_pos n rest)

let rec apply_env id = function
EmptyEnv -> raise (UnboundVar id)
| ExtendEnv (ids, dnvals, rest) ->
(try dnvals. (list_pos id ids) with Not_found -> apply_env id rest

0 4: mini Scheme! 00000 : 00000 (core.ml)

O0000 empty_env O Uempty_env () D0 OOO0O0OO0O0OOOOOOOOOOODOO
00000000 extend_env OO OOOOOOOODOOOOOOODOOOODOOOO
U0 D0OUOextend_env ids dnvals envUUDU U envUDUDUOOO0O0OUOOODO ids U 20
0000000000 denoted value 1O OO dnvalsU : DO0OO00O0O0O0OOOOO
O0000b0O0bbO0o0n0 apply_env DODOODOODOODOODOODOODOOOODOOOOO
O0Oapply_env id envU OO0 env 0 OO O0OO0O0OOOOOO0ODOOOO0O ia0ODO
gooobooboooboooooobobooobo0oob0oOobdn UnboundvVar D OO ODOOO

gooobooboobooouo40b00booboobobobOobbOobooboOoDboo
0000000000 EmptyEnv 00O OO OO OExtendEnv (ids, varray, env) OO0
env 0OO0OOO0OOODO ids O denoted value D00 varray OO O00OOO0O0D0OOO0OO
O0b00000b000bD0OOOapply_env 0000000 list_posUO0OOOOOODODO
oooood

0000000000000 000 (D0oD00)0 iOvOxOOOOO 1050100000
oooooooboooo

let global_env =
extend_env
["i" ; an ; an]
(List.map (fun i -> IntV i) [1; 5; 10])
(empty_env())

000000000000000000000000O0O(@MOoOoUoO)oooooo
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let apply_prim p args =
match p, args with
| (Plus, [IntV i; IntV j]) -> IntV (i + j)
| (Plus, _) -> failwith "Arity mismatch: +"
| (Minus, [IntV i; IntV j]) -> IntV (i - j)
| (Minus, _) -> failwith "Arity mismatch: -"
| (Mul, [IntV i; IntV jl) -> IntV (i * j)
| (Mul, _) -> failwith "Arity mismatch: x"
| (Add1l, [IntV i]) -> IntV (i + 1)
| (Addl, _) -> failwith "Arity mismatch: addl"
| (Subl, [IntV i]) -> IntV (i - 1)
| (Subl, _) -> failwith "Arity mismatch: subl"

let rec eval_exp env = function
ILit 1 -> IntV i
| Var sym -> apply_env sym env
| Prim (p, es) ->
let args = eval_rands env es in

apply_prim p args

and eval_rands env = function
0 -> 1

| e :: rest -> eval_exp env e :: eval_rands env rest

let eval_program (Prog e) = eval_exp global_env e

O 5: mini Scheme! 00 0000: 000000 (core.ml)

goooooon obuooobooooooboooooooooooooooon
gbbodbooobuibdd apply_prim, OO0 eval_exp OO UOOODOOOS0O0M0
O000000eval_ exp 000000000 (ILit) 00000000000 apply_env O
O0o0000000oo0ooO0ooO0o0oOoUoooO (DobooO)oooooooo
(eval_rands)0 apply_prim 000000 Oapply_prim 00 0000000000000
OO0O0O0O0D0D0O0O Objective Caml OO DO OOODDODOO0O0OOOOOODOOOOOOOO
gogooogg

3.3.4 main.ml

gobbob0O00 main.ml OD0 6000000 run 0DO0O0000O0000OOO0O0OO
ooobbobo000Olexer.mll UDODOOO0O0O00O0O00 main OO0 Lexer.main U0
parser.mly (0 %start) 000000000000 ODO toplevel 00O Parser.toplevel
UO0DbO0000OOParser.toplevel U ODOOODODOODODOOODOOODODOOODODO
0000000000 00000000D0D0 Lexing.lexbuf 000 (DOO0OO0OOOOOO
Lexing.from_channel 000000000 0)0000000O00O0 read_eval_print OO0
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let run () =
Core.eval_program
(Parser.toplevel Lexer.main (Lexing.from_channel stdin))

let rec read_eval_print () =
print_string "=> ";
flush stdout;
Core.pp (run ());
print_newline ();
read_eval_print ()

let _ = read_eval_print ()

[0 6: mini Scheme! 000000 : main.ml

goobbbooobbiddrn 000000000000 OOO0OODOOODDOOOO0
U0 core.ml JUOOOO0 ppUb00O0OOO0OOO0OOOOO0OOOO0OOOO0ODODOO
OO01let _= ... (000000000000 (DOOOOOOOOCOOO)O0OOOOOO
O00000000000000)00read_eval_ print 000 0000000000000
goon

Exercise 3.1 [0 000O] miniScheme! 00 0000000000000 DOO0DOOOOOO
gbobooboboooboboboooboboo g, v,xbooboboobooooobno
2000 30w 400000000000ODO0DO0ODDOODOODOODOODOO

(- (subl (*iii (4 ii v))) iv)
googooood

Exercise 3.2 [x] 00O Scheme 0000 +0 «x000000000O0O000OO0OOOO
ooo

= (+234)

9

= (*345)

60

+0«000000000000000D000

Exercise 3.3 [x| 0000O0O0O0O0O0O0OO0OO0OOOODOOOOOOOOOOOOOOOOO
gobbogboboodgbboobbuooobbooobbooooboboobobbooon
ggbbbuogobbooooboboboooobbbuoooobbbuooobbn

Exercise 3.4 [x| 0000000000 O00000O0O0000 semO00000O0O0O0OO
OoO000ooDoDoOoDODOOoObOO0o00DD miniSchemeOOODOOOOOOOOOOODODO
gbooooboobuooboobobuobdLispbogb s 000o0b0o0bboOonoo
ggbbboooobbboooon
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3.4 mini Scheme? — 000 O0O00OO

D0000000000000000 mini Scheme? 00 00000000000000
0000000000 =, <000000000000 (f(0,)(0,)(0,)00000
(0,)000000000(0, 00000000000000000000000(0 )
0000000000000000000(= (0,)(0,)000000000000100
0000000 000000000000000000(< (0,)(0,)0(0,)000
(0,)00000000010000000000000

0000 mini Scheme20 000000000000

= (< 54)

0

= (if (< (+35)(-918)) vx)
10

= (+(=33)5)

6

gobbobooodn

(00000 ) == (O)
(o) == ...

[ (f (0 1) (0 2) (0 3))

(000000) == ...|=|<

0000000000000 000000000000000000000 000 dexpressed
value, denoted value 0 0 00 OO0 OOOO0O

3.4.1 000000000

gopbobobogoboobobobooboobobooboboboobobobo
gbooooboboboboobobuobobouoobobooboooboboboobboooo
googbbooboobobobobooboboboboboboboboboboboobog
gogboobuogoobb =, <bbbuogobbbuoobobbooooobobooog

UUOOcore.ml UUDOOOUOOOOOODODOOOUOOOSyntax.prim 0oy
UOUOapply_prim U0 0OUOO0OOOO

34.2 if000O0

f0dof 00000 0o0b0oboooboobo0 foboboboobooooobooo
OO0O0eval_exp O if OOOOOO0O0OO0O0DOODOOOOOOODOOODODO Objective
Caml 000 int0000O0 IntVOODOODOOOOODOOOOODOOOODOOOODO
gbgoboobobbobbobooboobooboobon
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syntax.ml:

type prim = Plus | Minus | Mul | Addl | Subl | Eq | Lt

parser.mly:
/itoken EQ LT
PrimOp:
| EQ { Eq }
LT { Lt &

lexer.mll:

let reservedWords = [

("=", Parser.EQ);
("<", Parser.LT);

]

rule main = parse

| [7a7_xzz] [’a’-’z’ )_; JOJ_79) J’)]*
| [;+; Y Iy ) =) ;<z]

core.ml:

let apply_prim p args =

match p, args with
kﬁé, [IntV i; IntV j]) -> if i = j then IntV 1 else IntV O
(Eq, _) —-> failwith "Arity mismatch: ="
Lt, [IntV i; IntV j]) -> if i < j then IntV 1 else IntV O
(Lt, _) -> failwith "Arity mismatch: <"

~\

O 700000000000
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syntax.ml:

type exp =

| If of exp * exp * exp

parser.mly:

%token IF
Exp :

| LPAREN IF Exp Exp Exp RPAREN { If ($3, $4, $5) }

lexer.mll:

let reservedWords = [

("if", Parser.IF);
]

core.ml

let rec eval_exp env = function

| If (el, e2, e3) —>
let IntV test = eval_exp env el in
if test <> O then eval_exp env e2
else eval_exp env e3

O & if0000

18



Exercise 3.5 [0 00O] miniScheme? 000000000000 DOODOOO
Exercise 3.6 [x] 00000000000 and,or,not 000000

Exercise 3.7 [x] 00000000000 0O00O0O0O0O00OO mini SchemeO OO OO0
oooooooo

Expressed Value = 00 (...,—2,-1,0,1,2,3,...)+ 000 (true, false)
Denoted Value = 0O0O +000

gdbbobuoodidbllcore.ml DOOUOOOOO

type exval =
IntV of int
| BoolV of bool

O0O0Otrue, false 000 DO0ODOODOODOODODOODODOODODODOODOODOODOOOO
gogoobooon

= true

true

= (> 35)

false

= (if (> 5 (+24)xi)
1

(00D0: 000000mini Scheme 000000000000 00O0O)

3.5 mini Scheme® — 0000000

O000O0Omini SchemeJOOOOOO0OODO core.ml OO global envOOOOOO0O
00000000000000miniScheme?0000000000000O0

3.5.1 0OO000OO0o0Oogd

Jo0000o0ooooooOoOooooOog et ooooooooooboooo
Jdodooogdoodoooogoooobooogoognooboboogbogoogoog
O mini Scheme? 00000

19



00x0 10y0 (+22)00 (000 4000000000000 (*(+xy)v)0000
00000000000

D0000000000000000000000000000000 (scope) 1000
000000000000000000000000000000000000 let0000
0000000 xd yOOOOOO (*(+xy)v) 0000000 0mini Scheme® O let 00 O

(let (OO0 1) (0 1))

(000, (0 .)
(0DD))

0000o0oo0oOo(oo0oooooUoooD)O(000 H)Doooooooo (ooo)
000 (0 ,)0000000000) 0000000000000 0000000O0000
000 (bound) 00D OO00O0O0O0O0DOOO (bound variable)y 0000000000 0ODOO(*
(+xy)v)0OxOOODODODODODOO0OO0OO0D0OD0D0D00O0O0O0O000000000OOO0O0O
0000000000000 000000000000 (static scope, lexical scope) 0000
000000000000 (static binding) 0000000000000 O0OOO0O0OOOOO
0000000000000 000000000000 (dynamic scope) 00000000
00 0000 (dynamic binding) 000 0000000000000 O0O0O0OOOOOOO
00000000000 (free variable) D000

000000000000 DO0D00000OmIni SchemeDODODOODOOODODODOO
00000000 00bOobO0o0ob00ooO0bOooOOoobOobOOooDoooooOobOooooon
0000000000000000000000000000000000 (shadowing) O
O0o00oo0oobooooon

(let ((x 2) (v 3))
(let ((x (+xv)))
(* xy)))

O000bDo0o0 xDOoOooobOoooooog letb00bobb0oOo0oOoO0D xOOoO0DO
0000000 ((*xy) 0Ox0OO0OOOOOOOOOO0O0O00O0 (+xy)0 xO000000O
gbobobobooooobobinboooooobbobobogxgboboooooo
gobbbudg xboogobbobuoooobbooooboo

3.5.2 let 0000

mini Scheme> 00 000000000000 O0O0

(O) ==
| (et ((0DOOOO)Y))(O0O)Y)
(D0000) = (DOD (O Y) ... (BOD0 ) (0 )

20



syntax.ml:
type exp =

| Let of (id * exp) list * exp

parser.mly:
Jtoken LET

Exp :

| LPAREN LET LPAREN Bindings RPAREN Exp RPAREN { Let ($4, $6) 1}

Bindings:
/* empty */ { [1 %}
| LPAREN ID Exp RPAREN Bindings { ($2, $3) :: $5 }

lexer.mll:
let reservedWords = [

("let", Parser.LET);
]

core.ml:
let rec eval_exp env = function

| Let (bs, e) —>
let ids, args = List.split bs in
let arg_vals = eval_rands env args in

eval_exp (extend_env ids arg_vals env) e

09 0oboo

expressed value, denoted value D O O 0000000000t 0000O0OOOOOOOO
O00000000000000090000eval_exp U let00000O0O0O0ODOOODOO
00000000bOOooOoo0ooodooooooobOooooDooDoooboOooDoooDon
ooooooood

Exercise 3.8 [0 00 0] miniScheme* 0 0000000000000 0OOO0

Exercise 3.9 [x] 0000000 let0 0000000000000 0OOOOOOOO0OO
gbogobgobobbobobobooboobooboobon

(o) == ...
| (letseq ((OOOOO))(O0O)Y)
(D0000) == (D00 (O y)... (000, (0.

21



000000 letseq 0000000000000000000000000(000,)00
ooooo(o,.)0...0(0,)0(0)000000000000000

(letseq ((x 4) (y (+x3)))
(*x))

gooobog 2000 280000letseq 000000 O0ODOO0ODOOODOODO

3.6 mini Scheme* — 00000

gogogoobobbobbbbbbbddoooooooboboobbboobobooouoanon
mini Scheme 000000 (DOOOOO0OO0O0O0O0O00O0)0DODOOOOOOOOOOOOO
O0000OminiScheme 0000000000000 00O0O0O0O0O0OO0OOOOOOOOO
goon

3.6.1 OOOOOoOO

000 0Omini Scheme! 0000000

(O) ==

|  (lambda ((OOO4) ... (OO0 ,) (0))

| (O o). (Ow)
goouoobobbbbboooooooouooboboob 1obbobo
lambda 00D (000 ,)0...0(000,)0000000000(0)00000000
0000ooooooooooooo(ooo )o...0(0i0 ,yooooooooooo
(0)00000D00000000000000000000000(04),...,(0.,)00
000000oooo(onoooooo
gogon

(let ((f (lambda (x y) (* (+ xy) 3))))
(fix)

Ob00ob0ob0obOobDOoboobooboUblambda DO OD0OODOODODODODODOODOODOOO
gbogbuoobogooboobo

((lambda (xy) (* (+xy) 3)) i x)
00000000000000000000000000000000000000

(let ((twice (lambda (f x) (f (f x))))
(square (lambda (x) (* x x))))
(twice square 5))

gosoobooboboobd

22



syntax.ml:

type exp =

| Lambda of id list * exp
| App of exp * exp list

parser.mly:

Ytoken LAMBDA

Exp :
| LPAREN LAMBDA LPAREN IDlist RPAREN Exp RPAREN { Lambda ($4, $6) }
| LPAREN Exp Explist RPAREN { App ($2, $3) 1}

IDlist :

/* empty */ { [ }
| ID IDlist { $1 :: $2 }

Explist :
/* empty */ { [1 }
| Exp Explist { $1 :: $2 }

lexer.mll:

let reservedWords = [

("lambda", Parser.LAMBDA) ;

010: 00000 (1)
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core.ml:
let apply_prim p args =
match p, args with
| (Plus, [IntV i; IntV j]) -> IntV (i + j)
| (Plus, [_; _1) —>
failwith "One of the arguments is not an integer: +"
| (Plus, _) -> failwith "Arity mismatch: +"

let rec eval_exp env = function

| If (el, e2, e3) ->
(match eval_exp env el with
IntV test >
if test <> 0 then eval_exp env e2
else eval_exp env e3

| _ -> failwith "test expression is not an integer")

011: 00000 (2)

3.6.2 O0O0O0OOOO

0000000000OminiScheme! 00 0000000000000 O0O0OOO0OOOO
O000000000000000000 (first-class value) 000000000 D Oexpressed
value, denoted value D 0 D 0D 0O 0O0O0OOOOOO0O

Expressed Value = 00O (...,—2,-1,0,1,2,3,...)+ 000
Denoted Value = OO +000

gdbob +000obbbbbodooouobbbbbooooodobbbobbooooaob
O00D0O0ODODOD00ODO Objective Ciml DO O 0OOOODOODOODOOOODOOOOO
gobood
type exval =
IntV of int

| ProcV of (* discussed later x*)
and dnval = exval

gggobbbbbbbbodooooooooobobbbbobboouooooobboboob
f00obo0obooooobooobobofsbobobooobooooboboooboOooDo
gbooboobobobobbobooboobooboob11bood

apply_prim 00000000000 CO00ODOOOOODOOOOOOOOO(ODOOO
0)0000000000000O0000D0 1100 PLsO00000O0OO0OO0OOODOOOO
gbbodbobbodboobibibOleval_exp U OODOOO0DOO0O If00000e1
gbogbgoboobobbobbobobooboobooboob
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3.6.3 UO0OOoOooOoOoood

O00Olambda DO OOO0OOODOODOOOOODOOODIlambda OOOODOODOOOOO
000000000 (0O)0000O00O000OOO00DOO0ODOOO0OOODOOOO
gboboboobobooboooboboboooobobobobooobobooo
000000000 (DooDO0o0o0)Dooooooooooooo

(let ((x 2))
(let ((addx (lambda (y) (+ x y))))
(addx 4))

U0 addx UD0O0O0O0ODOODOxODOOODODOODODOOOODO xO 20000
gogbboboooobbbooooooboobboooobbbuoooobobooo

1. ggboood
2.0000000000

3. (00000)00000000000000000000(0O000)00000 (0
ooo)

0000000000000 000000000000000Od (function closure) OO
goobob lambda OO OOODO0ODOOODOODOO0ODOODOOODOOODODOOODOOO
gbobobOobdbDUOlambda DOOOODOODODODODODODOOODOOOOOOOOO
gobobogobbuogobbooobbooobbooobboobuoobbuoooboboon
ggooobod

Ubodboobdibd corem1 DOOO0OOO 1200000000 00000000O000O0O
gbbodbbuodbbodbibUenvU exval DUOOODODO0OOOO0OOOOOOOOO
(and 00 00D0) 00000 ProcVvO0OOOOODOOODODOOOOODODOOOOODOOOO
gbboobougbbobbdudbiudbib0eval_exp U Lambda U0 DO UOODOOOOMO
gobogobboobbenvddbuogobooooboobbobboobbuobboon
gobboogbugobbuoobboobuooobbuooobooobbooobboban
gogbbboooobbboooobboboooboobbobooobbboooobbooon
gobbuoodbibbnewenv U000 ooooooobboooobboooboon
gogoobobooodon

Exercise 3.10 [0 0 0O0O] mini Scheme! 0000000000 DOOO0DODOOO

Exercise 3.11 [x»x] 00 0000000000000 O0O0O0O0O0O0OO0OO0O0O0OOOOO
ggn

(let ((_twice (lambda (f x) (f (f x)))))
(twice addl 3))

25



core.ml:

type exval =
IntV of int

| ProcV of id list * exp * env
and dnval = ...
and env = ...

let rec eval_exp env = function

| Lambda (ids, body) -> ProcV (ids, body, env)
(x closed in the current env *)

| App (rator, rands) ->
let proc

eval_exp env rator in

let args = eval_rands env rands in
(match proc with
(* check the operator is a procedure value *)
ProcV (ids, body, env) ->
if List.length ids = List.length args then
(* extend the env in the closure x*)
let newenv = extend_env ids args env in
eval_exp newenv body
else failwith "# of parameters and arguments don’t agree"

| _ -> failwith "Applying a non-procedure value")

0 12: 00000 (3)
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000000000000 0000000DODODOOO00000000000(oDOoO0Od
00000 miniScheme 0000000000 0)0000000O0O0OOOOOOOOO
000000000000 000000O0((@COD0: 00000000000 expressed value
gbobbogboboobboodbbooobbuooobbooobbuooobbbooob
O0000000ooooooooooon)

Exercise 3.12 [x] 000000000000 40000000000000 mini Scheme?
ggbbbuooobbbuoooobbbuoooobbbooobboo

(let
((makemult
(lambda (maker x)
(if (_: x 0) 0 (+ 4 (maker maker (subl x)))))))
(let ((times4 (lambda (x) (makemult makemult x))))
(times4 3)))

Exercise 3.13 [x*] miniScheme* 0 0 0000000000000 00O0DOOOOOOO0O
O0b0ooboooobodbDUlambdad OO OO0ODOOODOOODOOOOODOOOODOO
gogboboboooobboboogobobboooobbbuooooboboga

gogbobobboogoobbbodg atd 300bb sbbbouoooboobouooaon
000000 (dynamic binding) 000000

Exercise 3.14 [x] 0000000 Omini Scheme® 0000000000000 OOOO
UO000DOExercise 3.120000000000000000O000O00OO0OO0ODOO0OOO
goboboooooooboobooobooobooooboobooooboooooOooon

(let ((fact (lambda (n) (addl n))))
(let ((fact (lambda (n)
(if (= n 0) 1

(
(* n (fact (subl n)))))))
(fact 5)))

3.7 mini Scheme® — 0000000000

goooboooooobooooooooboooooboboooooobooooooboboooooDoon
00000000000 (recursive definition) 0 00 0 00 O O mini Scheme® 000000

27



gobbodgboboodbbioooooobuooobboobboobbuoooboboon
oooooooo®ood
go0oobooobooobgo letrecdbdobooboobOon

(O0) ==
| (letrec ((00DOODODOYN(OOO))
(00D0000000) == ((000,) (lambda (00D 1) ... (000 1) (0 1))

. ({000 ) (lambda (D00 ) ... (000 ) (0 )

letrec 0O O(O0ODO,)0...0(000 )00D00O0OO00DO0O0OOODOOOODOOOOOODO
O0000(000)000000let000000000000000O00O0 lambda D000
0000000000000 00000O00(0D00)O00000O0 lambda0O0O00OODOO
Olambda 00 O0O0OO(O0ODO ()O...0(000 )000O0O0O0O0O0ODODOOO

O00000D0O0DOO0DDOO000O000O00D factd letrec00DO0ODOOSB! O
gogooboogon

(letrec
((fact
(lambda (n)
(if (=n0)1
(* n (fact (subl n)))))))
(fact v))

000ooooooooooooog et oooooboboooooooooooa
gooddooodooooooobobooooooooo oo oobooooon
Dooddooodoooooooooooooooooooooooooooooon
gdoddddoooooooddddddddUUUUUUUUOUOUOoOoUbL LoD bDOon
0000000000000 0000DO0000bO000b0O0000O0DO0nOdObjective
Caml OOO0OO0OOOOOOOOOO

U 130 0parser.mlyllexer.mll ODUOUODODOOO0O0D0O0O0000O0DOeval_exp U
Lletrec JO00O0O0O0O0OOOLet DO0ODODO0OOO0ODOODOOOOODOODOOOOOO
extend_env_rec OO O0OOO0O0OOOextend_env_rec U0 OOO0OOOOOOOOODNO
O(@O0o00000000O00O0OO)DDODDDODODOODODOODODODODODODODO veceOOOOO
Oo00dddooodoooooboodooooobodod0oo0ddOddneweny O Ovec
goddobdoooboooouooooooboood

(int -> ’a -> unit) -> ’a list -> unit
O0000000 iteri DOOOO

iteri £ [ag; a1; ... a,l

’Scheme 0 Objective Caml 00000 (00000)0000000000000D0DDOO0
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syntax.ml:

type exp =

| Letrec of (id * (id list * exp)) list * exp

core.ml:
let extend_env_rec syms procs env =

(* assumes List.length syms = List.length procs *)
let vec = Array.make (List.length syms) (IntV 0) in
let newenv = ExtendEnv (syms, vec, env) in

let rec iter f i = function

1> 0O
| x :: 1s > f 1 x; iter £ (4 + 1) 1s in
let iteri f = iter £ 0 in
iteri

(fun i (ids, body) -> vec.(i) <- ProcV (ids, body, newenv))

procs;
newenv

let rec eval_exp env = function

| Letrec (procdefs, body) ->
let (ids, procs) = List.split procdefs in
let newenv = extend_env_rec ids procs env in

eval_exp newenv body

U 13:000000n
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fO0ay; £f1ay; ...; £fna,

gobobbbbduotodbibnewenv U000 oOoOoooooobbobbooooaon
gbdboodbbod newenv U O OOOOOO0OOO0OODOOOOOOOO0ODOOO0OO
gboogoooogd

Exercise 3.15 [J000] D0O0O0O0O syntax.ml 00000 Oparser.mly 00 lexer.mll
O0000OminiScheme® 00 0000000000000 O0O0O0OO0OOOOOOOOOOO
goooooonooooooooooobooooog

Exercise 3.16 [xx«]| letrec 00000000000 Olambda 00000000000
gogbbobuoooobbbooooobbboooobboboooon

3.8 00O

Exercise 3.17 [x] 00000000000 miniScheme® 00000000000 OScheme
0000000000 ()D000ooo00ooo (200)000000 consDOOOOO
000000000000 (CODO00)0DoooOOO0 st 0000000 0Doooooog
00000000 mullDOO000O000 carDO000OOO0ODOO «drO0O0O0OO0ODODODO
gooooboobbobboo

O0000000000o0oo0o0O00o00o0o0onD ()oboooooooo

= (list 12 3 4)

(1234)

= (cons 0 (list 1 2 3 4))
(0123 4)

= (cons (list 1 2) (list 3 4))
((12)34)

O000000000000Scheme 0000000000000 OOOOOOODODODO(O
0000000 (12)0000000000000000) 0000000000000 00
goboobooon

= (letrec ((append (lambda (I1 12)
(if (null 11) 12

. (cops (car 11) (append (cdr I11) 12))))))
(append (list 1 2) (list 3 4)))

(1234)

Exercise 3.18 [xx] Scheme 00 0000000000000 00000O0OOcons 00O
O00000000000000000O0Scheme 00000 (consOO0O00O0)00O00OO
oooobooooobooooooobobbooooobbooooboooooooboboooooDoobOoo
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O0000000000000000 consO0000O0(CODOOOOOO car,edr D000
O0o0o0d0oooooooooOoOooUuoooooooon)
gobbbuoogoobbboooooobodg .bobuooobo

= (cons 1 2)

(1.2)

= (cons 1 (cons 2 (cons 3 4)))
(123.4)

= (cons (cons 1 2) 3)

((1.2).3)
= (cdr (cons 1 2))
2

Exercise 3.19 [xxx] MLOOOOOOOOOOOOOOOOOOOOOOOOOO

Exercise 3.20 [+x] Scheme 00000 (quotation) 00 000(000000)00000
0000 (00000000000)000000000000000consO list 0000
00000000000000000000000000000000000000 '00
0000000000000000000000000

0000000OD0OD0ODOD0ODOODOO0000000D00O00000000O0O0OOO(@COoOoOd
000000O0)oooooo

3.9 mini Scheme® — 000000000
dddooddooododood setddoogodgoooooon

(O0) ==
| (set (OO0 ) (0O))

set 00 (000D )0000 (0)000000O00O0O0set0000O0O0 OOODODDOO

gbooobobobobgooboobooboboobobobobobooboobobon
000000000000 00(0o0)00000o0o0o0O000 (D000 denoted value)
gbgboobobooooboboobbooboboobobobobooboboon
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0000000000 0set0000O000DOO0OOO0OOO0ODOO0OO0DOODODOODODOOO
0000000000000 0000bO00O0D00D000DO0D0DOoDO0O0o0O0DOndset
000000 DO0oo0oooOO0o0ooOoooO0obOo0ooooo0ooDboooooODoDooOOoOon
00000 (00O00000) 000000000000 O0O0D0D0oOoOoooOoOoOoooO
0000000000000 O0DOO00000OsetD0O0DOO0O000O0ODODOODODOOOOOO
000(0)0000000O0000O0O00O0O0000O0000O0O00DUOOOOOoOOOO
00000oooooooooooobooOonooOoOddd expressed value, denoted value O
ooooooooon

Expressed Value = 00O (...,—2,-1,0,1,2,3,...)+ 000
Denoted Value = (OO0 +000)0000(@O0OO)

ggooobod
gboboggbbuogooobobboobbuogobooobbooobboobobon
g

(set x (addl x))

U000b00obuoobd xOobuoobOoobOoOoDOOd denoted valuel DO OO OOO
gbbogbboobodooobuooboobobobboobboobooboobboob
(expressed value) 00 0 0000000000000 O0O0OO0OOO0OOOOOOOOOO
0000000DD0ODOD0O0000000000000 (Lwalue) D0 00000000000
O(Rwelue) 0000000000000 0D00OOCOODOx=x+1; 00000000000
Ox0000000O0O00DO0 x00000D00000O00DO0O00O0O0ODODOOOODbjective
Caml OOO0O0O0O0ODOOO0OOODO0OODOODO0OD0O0ODODxO intref 00000O00Ox 0O
gogbobbbbuouooobbbbboddxbbbbooooobbbbood xgoo
gogboboggoobood

gbobobobogobbuoobbbooobbuobobooobboobobbooboan
O0000OincOget UODUOOOOcounter OO OODOOO

(let ((counter 0))
(let ((.get (lambda () counter))
(inc (lambda ()
(let ((d (set counter (addl counter)))) 0))))

(let ((d (inc)))
(

dOO0O0O0O000O0Olet000000D00000O0O0DO00O0000OO0 Ocounter 00O
100000 incO200000counter OO0 get 00 00OO0O0OO0OOODOO 200
gboboboobobgoboboobobooboboobobooobboboboon
gogobbobobuooodibiblDeounter OO 0ODODOUOO0O0O0OOOODDOOOOOOOO
gbooboobooboon
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(let ((inc_and_get
(let ((counter 0))
(lambda ()
(let ((d (set counter (addl counter))))

. counter).))))
(4 (inc_and_get) (inc_and_get)))

200 incand get 00000000000 0O0OODO (counter000000)0000ODOO
gboogboogo

mini Scheme® 0000 0000000000000 O0OOOOOOODOOOOOODOOOO
0000000000000000000000000000 (call-by-value) 000000
gogbbobuoogobbbooooobbbooobboboooobobuoooobboboo

(let ((x 100))
(let ((p (lambda (x)

(let ((d (set x (addl x)))) x))))
(+ (px) (P x))))

gbg020bdbdbodpboboobobobobuooboboboboboboob
Ubooobd setd000bodbpdbd xgbbobooboobboobo

gbbooboboobbuoobbiot 40000000aval DOO0OOOOO0DOOOO
ogboboboboobbbuddd ret 0o odd apply_env [ donval O OO
gbob00bodb0OverdobO0OoOoooO0!'ob0b0b0b0O0ObDOD exval DODOODO
000000000 Assign 0000000000 OOOOODOOO denoted value 00O O
0 0 Objective Caml D00 :=00000000000eval_rands DO0O0O00OO0D0OOO0O
goboboboboooboboobobooboboooboooobobooobooon
O00000000DO expressed value 0D O0000000000O0OODO eval_rands [
00 eval_prim_rands UUO OO OODOON

Exercise 3.21 [x) 00000 syntax.ml 000000 0Oparser.mly O lexer.mll 00O
O00Omini Scheme® 000D 00000000000 DOOO

Exercise 3.22 x| 000000000000 begin D0O0O0DOO0DODODOOOOOOODOOOO

(00000 == (0)
(O0) ==
| (begin (O 1) ... (O ,))
beginDDD(D 1>DDDDDDDD<Dn)DDDDDDDDDDDDDDDDDDDD(IG'CD

O0000000O0000o0oO0o0O00)0o0o0o0OD0o0DO0oOoOoODO0DoOoOOOOoOoDOoooooOO

‘00000000000000000000000000000000000000000000000
oooooo
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syntax.ml:

type exp =

| Assign of id * exp

core.ml:
type exval = ...
and dnval = exval ref

let extend_env_rec syms procs env =
let vec = Array.make (List.length syms) (ref (IntV 0)) in

iteri
(fun i (ids, body) -> vec.(i) <- ref (ProcV (ids, body, newenv)) )
procs;

let rec eval_exp env = function

| Var sym -> !(apply_env sym env)

| Prim (p, es) ->
let args = eval_prim_rands env es in

| Assign (id, exp) ->
let arg = eval_exp env exp in
let idref = apply_env id env in
begin idref := arg; IntV O end

and eval_rands env = function

(1 -> 1

| e :: rest -> ref (eval_exp env e) :: eval_rands env rest

and eval_prim_rands env = function

b ->10

| e :: rest -> eval_exp env e :: eval_prim_rands env rest

014000000
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Exercise 3.23 [xx] 0000000000000 O0O00O0OOOOObjective Caml 0O0O0O
O000D0D0O0000000 expressed value 000000000000 CO0OOOOCOOO
00000000000000000000000000ooO0(@Eooooooo0)oo
Oo0OO0OoOO0OoOOg ref0000000000O0O0O0O0O0OOOOO0O deref00 10000
OOO0OO0OOOOO0O0OO02000000000 setref00000O0OO0O0OOOO0O0O00O0O0O
oooooooooo

Expressed Value = 00 (...,-2,-1,0,1,2,3,...)+ 000
+FExpressed Value 0 O 0O O
Denoted Value = FExpressed Value

ggbbobuoogoboboooogbood

(let

((g (let ((count (ref 0)))
(lambda ()

(let ((d (setref count (addl (deref count)))))
(deref count))))))

(+ (e) (8)))

3.10 OOOoOoO

Exercise 3.24 [%] setcar,setcdr 00000000000, Exercise 3.170000000
00000000 (car) 00000 (edr)D000O00D0ODOODODODODODODOODODOOOO.
(00: 00000, Exercise 318000 0000000000000O0O0ODOOOOOOO
0000, Exercise 3.18 00 0000000000000

setcar U OO OO0 OOO0O0OogoO,ogbbug,buogobobooobobooobn
gboobOoboooboobobooobobOo. 000, setedrDO0O0O0OODOODOOOOO
g, gggobobobbodggogobbobbooooooobbb. buoooooon
0000000 (DoOoooooooon).

= (let ((xs (list 0 2 3 4)))
(let ((d (setcar xs 1)))

xs))

)(xs (list 01 3 4)))
(d (setcdr (cdr xs) (list 2 3 4))))
)

setcar, setcdr [0, Exercise 3.180 00000000000 O00OOOO0O,

= (let ((p (cons 0 2)))
(let ((d (setcar p 1)))
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P))
(1.2)
= (let ((p (list 0 1 2)))
g;i (setcdr p 4)))

(0. 4)

goubg,doubuoobuodg, bbb obbuobobbuouonog. setcar,
setcdr U0 OO0OOODOOOOODOOODOOO.
= (let ((xs (list 1 34 5)))
(let ((d (setcdr xs (cons 2 (cdr xs)))))
)
(12345)
=(letrec ((nconc (lambda (xs ys)
(if (null xs) ys
(if (null (cdr xs)) (setcdr xs ys)
(nconc (cdr xs) ys))))))
(let ((a (list 0 1 2))

(b&a34®»
(let ((d (nconc a b)))

t
a)))
(012345)

Exercise 3.25 [xx] 0000000 setedr 0000,

= (letseq ((xs (cons 1 ()))
) (d (setcdr xs xs)))

gboobgoboboobo,oobo0o1ogboobgooboobobooboob,
o000 cdrO0 IDO0D00ODOODOOO,D0D000O0OO0ODOODODODODODObOO
o0o0o000O000O0O0O00000U0U0 (DODODODODDODO)DOOO0OO0ODOODOOOOO
Core.pp 000000 DO0O(0ODODDOOOOOOOODODODDOODOODOOOOON)

3.11 UUboboooooboold —gubtbuooboboooobooogd

goubgobbodgogbboobobuoobboobbooobuoobboobbooboo
O0000000FORTRAN, Pascal 0000000 O0O0O0OO (call-by-reference) 0 0 0 O
00 (lazy evaluation) 00 00 0O Algol60 DO OO0 00000 (call-by-name)d Haskell O
000000000000 (call-by-need) 0000000000000 O0OOO

3.11.1 00O0O0d

gogboooobobobobooboboboboboobobooooboboon
gbgboobobooooboboboooobobooboobobobooboboon
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000000000000000000070000000000000000O0000O000
gboobgoobooboobon

gogobobbuoogoobbobobbooooobobobooooobobobbobogoo
gboboobobobooboboboboboobobobobooooboboon
gboboboooboboogbboobbuooobboobobboobbooobbobooon
O00000000000000000000 (denoted value) DOOOODOOOOOOOO
0000000000000 000000000000000000 (expressed value) 0 O
goooodao

gboboodbooboboobboobbooobbuooobbooboboobboon
000o0o0o0ob0oboboo00obo0b0obD0obD00ob0bOobObUnExercise 3.2300
ggbbobuoooobbodao

swap (lambda (x y)
(let ((temp x))
(let ((d (set x y)))
(set y temp))))))
(let ((d (swap a b)))
(-ab
oot -1 bbDswap gy
00000000000 bOOOOooobooobol1booo
godooobboooooooooboobbbooooooooooobob xuyod
goooobooobbbboo 40000

(let

((b3)

(p (lambda (x y)

(let ((d (set x 4))) v))))

(p b b))
000000000000 000000000000000A0 (aliesing) 00000000
0000000o0b0bOOoo0oobdooooobOoooooobOooDOooDoOobOoooo
00000000oooooooooo0oU00ooooo(@ooooooooOoOooooo
000 expressed value 0000000000000 0O000OODOOOOO)

0000000000 0000000000000 00D0O0DO00O0O0Oo0oDOoOOn

0 Odenoted value [0 expressed value D0 O 00000000000 OOOOOOOOOO0O
00000000000 0000 ref00000000O0OOeval_rands OO0 OOO
O0000000Oapply_env 00000 denoted value 000000 ODOODOODOODOO
O00Olet0 00000000000 OO0OOletdD eval_let_rands 00000000

"Exercise 3.2300000000000000000000OODODOO
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core.ml:
let rec eval_exp env = function

| Let (bs, e) —>

let arg_vals eval_let_rands env args in

and eval_rands env function

| Var id :: rest -> (apply_env id env) :: eval_rands env rest

and eval_let_rands env = function
0 -> 1

| e :: rest -> ref (eval_exp env e) :: eval_let_rands env rest

U 1: 00000

Exercise 3.26 [x| 00 0000000000000 0OOOO swapOOOOOOOGOOO
O0Oeval_let_rands 0 eval_rands DO O OOOOOOOOOOOOO

Exercise 3.27 [xx] Pascal 0000 0000000000000 0O00O0OOOOOOOOO
gobboboogobobbooooobobboooboboboooobboboooobboboo
gobood

3.11.2 00000 call-by-need, call-by-name

gbopoobobooboobooboooobooboooboboboboobbobobobob
gboooobobobooobobooooboboobobobobobobobnooo
gboboboboboboboboooooooooooooooooobobobonbg

mini Scheme D0 00000000 DO0ODOODOOOOOOODOODOODODOODODODO
goobobobooboboooobobobobooboboobobooooooon
gboooobobooooboboooooobobooobobobooonooboboo
gobooooobooboooooooboonDoOon thunkODOOthunk OODOODOO
OO00000000 freezing, thawing D0 000000

(let ((p (lambda (x y) (* 2 x))))
(p (+ 2 4) (fact 150)))

O00D0O00O0DO0ODO0DO0ODbO0O0ODO freeze UOO0O0ODODDODODODODOODODOO
thaw OO0 O OO0OOD0OOO0OOOOO
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(let ((p (lambda (x y) (* 2 (x)))))
(p (lambda () (+ 2 4)) (lambda () (fact 150))))

00000000000 0D000D(@O0UD fact D0DO0DODOOOODOODOOOOOOO
00)000000000000000000000000O0ODOO0O0O0OO00OO0O0OQ
goobooo

0000000000000 00000000000000000(OoO00)0000
0000 (lazy evaluation) 00 000000000000 DOOOOOO0OOOODOODOO
gboboobobooboboob2000b00000b00b00b000b0ob0Oo0boOon
O000000O0thunk O thaw 000000000000 0O0DODOQOOO (call-by-name) O
OO0OD0AlgoloO DOODOOOODOOODOOOODOOOODOOODOOODOOODOOOO
0000000000000 0o0O00oo0oooooOboOb0OUdbH Haskel DODOOOO
OO0 00000 (call-by-need) 000000000 thaw OO thank 000000000
gbobodgbbugoobboobboobbuoobobboobbooobbobbooob
gobobogobbobooboboooboboobboobboooboboobbbooon
ggboobuoooobobobuooooboboboodan

(let

((g (let ((count 0))
(lambda ()

(let ((d (set count (addl count))))

count))))
(double (lambda (x) (+ x x))))

(double (g)))

Ub0gUbOOOUODDbOOO0bDOoObOO10bbo0bbboobobodbbudgbUdxdd
gbgbobgo200b000b00b03000b0b0bo0bobbobobod xboon
gboobuoo 10bgoboboobob xoobooboobobooobbooboot
gboobogoboob 20000

gboboggbbobbuoobboobooobbuooobooobbuooobboan
gbobooboboooobbobooboboboobobooboboboooboon
00000o00o0o0o00oooo@UuO0oDoooO0oUoooooUOUooooooooooO
0000000000000 000OOO0)00O00D00OOOO0D0DOOODOOOOODODOO
gbobooobbuooobboobobooobbuooobbobbobbuooobboob
goboooobooobbobbbooobbuooobboooboobooobboon
googdgbbouooobbuoobboobbboobbooobbooobboboboob
gogbobboooobobboooobobbuoooobobbooooobobog

godobboooooooooboooo0oooobooooobbooOo000oOobOUddthunk
gogbobobogoobobogo

Expressed Value = 00O (...,—2,-1,0,1,2,3,...)+ 000
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Denoted Value = (Expressed Value + thunk) 00 OO

U00O0Ocore.ml JUODOOD0O0OO0 160000000O0dnval OUpre_dnval OO 0OOO
O0D0000000Opre_dnval OOthunk OOO0O0O0OOO thaw OO0 expressed value
OO000thumk O00OOO00OOO0ODOOO0ODOOODOOODOOODODODOOODOOODOODOO

eval_exp U0 UO0OD0OO0ODOOODOOODOOODOODODODODOOODOODOODDODODO
denoted value 0 0 OO OO0 O0OOO0ODOODO thunk OO0 00O OO O thunk O thawing
ooooobobobooooooobDoboooOo thmkODOOOOOOODOODODOO

eval_rands U0 O U0D0O0O0000000O0O0OOOOOO0OO0OOO0ODOO0ODO0OO
OOooboogboOOlmbdaDOOOOO0OOOthumk OODOOODOOOODOOODOOODOO
0000000 0lmbdaD 00000000000 Othunk 00000000 thaw OO
goooood

Exercise 3.28 [x] 00000 core.ml 0000000000000 OODOOOODOOOO
googod

Exercise 3.29 x| 000 0000000000000 O0O0O0OOOOOOOOOOOOO
god

Exercise 3.30 [\ 00 000000000000 lee00000000O0OD0OOOOOODO
OooOooOooOdletDOD0O0ODODO0ODOODODODOOOOOOOOODOODOOD letO
O00ooooooD strictlet DO0O0O000O0O0ODO0OOOOOOOODOODOODOOOO

ooon
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core.ml:
and pre_dnval =
Thunk of exp * env

| Thawed of exval
and dnval = pre_dnval ref

let rec eval_exp env = function
| Var sym ->
let varref = apply_env sym env in

(match !varref with
Thunk (e, env’) ->
let v = eval_exp env’ e in

varref := Thawed v;
\

| Thawed v -> v)

and eval_rands env = function

| ILit i :: rest —-> ref (Thawed (IntV i)) :: eval_rands env rest
| Lambda (ids, body) :: rest ->
ref (Thawed (ProcV (ids, body, env))) :: eval_rands env rest

| e :: rest -> ref (Thunk (e, env)) :: eval_rands env rest

and eval_let_rands env = function

b -> 1
| e :: rest —>
ref (Thawed (eval_exp env e)) :: eval_let_rands env rest

U l16: 00000
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6) 0O O0O. SchemeO O . 0000000000 OODO.O0000O,1991. 007
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